Link to Solutions: = . .
https:/ /youtu.be/GoTNgDIYKIM Exercise 3.5 (Geometric Mean and Weighted Mean)

@C alculate the geometric meanof 2,4,6,8 and 10

@) The debt o f a country increased by 2% ,5% and 3% in three consecutive years.

Calculate the geometric mean of these percentage increase,to 3 decimal places.

(3) The geometric mean of three numbers is 6. Two of the numbers are 1.5 and 16.

What is the third number.
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Exercise 3.5 (Geometric Mean and Weighted Mean)

(@

A particular examinations comprises of four papers with the following weightings.

Exams Paper Weight
Paper 1 30
Paper 2 30
Paper 3 20
Paper 4 20

A candidate scored the following marks: Paper 1: 65%

Work out the candidate's final mark.

Paper 2:35% Paper 3: 56%

Paper 4:40%.

Weekly Pay Percentage
£200 45
£300 35
£450 20

Work out the average earnings.

® The table shows the distribution of the weekly earnings of the workers of a company.
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